Company	MRGV'		Name of contractor	M Satish	S	I No site bill	s reg.	340 05/05/24	
Project/site Block no	BRGV.	a sa	Nature of work	Painter		It site hills an	ACI	_0/_	
WO no.	- <u>.</u>		Work done from date		12-12-2023 N	M-coder hill f	-	NO	
** ** **	NA		Work done to date		30-01-2024	WO issued?		NO	
WO date	NA	to be approximated by the control of	Contractor bill no.			GST bill requi	red?	Rate	Amount
Sl. No.	Unit/floor no		ails of work		Qty	Units	Rate ID	1.75	3,990.00
1	OHT	External painting on OHT			840.000	Sft	PT136 +137	4.75	8,550.00
2	Headroom	Headrooms			1800.000	Sft	PT136 +137	4.75	34,057.00
3	Duct slah	Duct slab			7169.895	Sft	PT136 +137	175	8,877.75
4	Duct Column	Duct Column			1869.000	Sft	PT136 +137	4.75	855.00
5	Lift Headroom	External paint of lift head	room		180.000	Sft	PT136 +137	4.75	29,393.00
6	Parapet wall	Parapet wall inside one co	oat paint		6188.000	Sft	PT136 +137	4.73	18,510.75
7	Pargolas	One coat of painting on pa	argolas 7 nos		3897.000	Sft	PT136 +137	4.73	
8	Electrical shaft	One coat of painting on in	nside of ele-shaft		2750.000	Sft	PT136 +137	4.73	13,062.50
9	Electrical in parking	External painting of elect	rical room in parking		2070.000		PT136 +137		9,832.5
10								Total	1,27,128.5
		·					· · · · · · · · · ·		0.0
					T		Add GST (
D 1 F	APPROVED BY				101	al amount in	cluding taxes	for work done	1,27,2200
Remarks	2004	· · · · · · · · · · · · · · · · · · ·	A menual by OS tone			14		-D toom	
Approvedio	y projectation a 2024		Approved by QS team	<u>n</u>			y Director/E&	¿D team	
Sign:	STAGOLAM SARWAR		Sign:			Sign:			
Date:	SYLVIGOLAM SALLAGER ASST PROJECT MALAGER		Date:			Date:			

Notes: 1. This sheet replaces installation report and advice for credit to contractors. 2. This word form must be typed. 3. Use this form even if work order is not issued. 4. Attach measurement and estimate sheets only if required i.e., details cannot be entered above. 5. For bill amount greater than 10k QS manager and directors approval is required. 6. For bill amount less than 10k any QS team member may sign and in place of director sign of respective E&D member to be taken. 7. Director include – Soham, Anand Mehta (for GHT + GMR), Sachin (for Vivopolis), B. anand Kumar (for NGH + NRK). 8. Entry of rate ID is mandatory. 9. This sheet must be sent within 2 working days of work completion (with or

11 1	SUREMPNT SHEET				Approved				
	any Name	MRGV		All to the second second second space	the statement and	The street of th	the new two the trapher accounts to		there is not interest topic or topic flow. The world in the contract is a disco-
rojec		BRGV	A STATE OF THE STA	on the state of th	hander a minetten dage made of	Anna anna properties	Challet - Chief by travelle stranger.	Day 1 8 11	grade. The agreement consequence for the girl and in the angle agree
Vork	Description:	Painter		Marian Arang Australia.			Security of the Principles of	, a superior and	branche francestation that some one days or emerges to bring product to
lame	of the Contractor	M Satish	Allen 4 mallippe at the second	and in complete the series of the complete t			Contract to the contract of th	and was not a loss of the	ng ti jam og skene tre past knake knowlegeredens i erfendelik i ande
repar	ed By	Sarwar				And an associated in the last of the last	and the same of th	The state of the s	the standard of the property and and the standard of the stand
Date		24-05-2024					-	a special and a second substitution of any order	يه به المحاسمة
	Control of the first control of the		A	В	C	D	E=AxBxCxD	F	G=Sum of E
S No.	THE RESIDENCE OF A STATE OF THE PROPERTY OF THE PARTY OF	Item Description	Length	Width	Height	Nos.	Quantity	Units	Item Head Total
1	ОНТ	External painting on OHT	60.00	1.00	7.00	2.00	840.00	Sft	generality in the of the factor of the second secon
2	Headroom	Headrooms	60.00	1.00	10.00	3.00	1,800,00	SR	
3	Duct slah	Duct slab	7,169.90	1.00	1.00	1.00	7,169.90	Sft	and a selection of the
4	Duct Column	Duct Column	1,869.00	1.00	1.00	1.00	1,869.00	Sft	
5	Lift Headroom	External paint of lift headroom	36.00	1.00	5.00	1.00	The state of the s		
6	Parapet wall	Parapet wall inside one coat paint	1,768.00	1.00	3.50	1.00	180.00	Sft	
7	Pargolas	One coat of painting on pargolas 7 nos	3,897.00	1.00	1.00	1.00	6,188.00	Sft	
8	Electrical shaft	One coat of painting on inside of ele-shaft	10.00	1.00	55.00		3,897.00	Sft	
9	Electrical in parking	External painting of electrical room in parking	69.00	1.00		5.00	2,750.00	Sft	
		The state of the s	37.00	1.00	10.00	3.00	2,070.00	Sft	

Company N	Name:	MRGV					
roject		BRGV					
Work Desc		Pamter					
	ne Contractor	M Satish					
repared B		.Sarwar					
Date		24-05-2024					
S No.	Item Head	Item Description	Quantity	Units	Rate	Amount	Item Head Total
1	OHT	External painting on OHT	840.00	SFT	4.75	3.990.00	
2	Headroom	Headrooms	1,800.00	SFT	4.75	8,550.00	
3	Duct slab	Duct slab	7,169.90	SFT	4.75	34,057.00	
4	Duct Column	Duct Column	1,869.00	SFT	4.75	8,877.75	
5	Lift Headroom	External paint of lift headroom	180.00	SFT	4.75	855.00	
6	Parapet wall	Parapet wall inside one coat paint	6,188.00	SFT	4.75	29,393.00	
7	Pargolas	One coat of painting on pargolas 7 nos	3,897.00	SFT	4.75	18,510.75	
8	Electrical shaft	One coat of painting on inside of ele-shaft	2,750.00	SFT	4.75	13,062.50	
9	Electrical in parking	External painting of electrical room in parking	2,070.00	SFT	4.75	9,832.50	
-		The second section of the second seco				. /	
		Note - Primer - 1 75 + paint -3 =4,75 (PT-136&137)					
					TOTAL	1,27,129	

Allowance For Equipment M Satish MUHARPALLY Hyderabad

Date 24-05-2024

In	favor	of	:	
----	-------	----	---	--

MRGV

Project/Site:

BRGV

Location:

MUHARPALLY

Type of Work:

Painter

Towards:

Allowance For Equipment

S.No.	O	Discription Amou	
1	Breif discription of work done	Towards PAINTING WORK	
			50,851.40
	Total amount:	1,27,128.50	

Amount in Word: Fifty thousands eight hundred fifty one rupees only/-

Labour Charges M Satish **MUHARPALLY** Hyderabad

Date 24-05-2024

In favor of:	MRGV
Project/Site:	BRGV

Location:

MUHARPALLY

Type of Work:

Painter

Towards:

Labour Charges

S.No.		Discription	Amount
1	Breif discription of work	done: Towards PAINTING WORK	
			50,851.40
			30,002.10
	Total amount:	1,27,128.50	

Amount in Word: Fifty thousands eight hundred fifty one rupees only/-

Allowance For Consumables M Satish MUHARPALLY Hyderabad

Date 24-05-2024

In favor	of	:
----------	----	---

MRGV

Project/Site:

BRGV

Location:

MUHARPALLY

Type of Work:

Painter

Towards:

Allowance For Consumables

Discription eif discription of work done: Towards PAINTING WOR	Amount
	l l
Total amount:	25,425.70
	Total amount: 1,27,128.50

Amount in Word: Twenty Five thousand four rupees only/-

Sign:
